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1 1-1 SIEEWRT |dtEETRIEH ) 10A8H 0.09 0.08
2 1-2 | SEFRW |[LRFETHREH(2) 10888 0.09 0.08
3 1-3 KIEENT [ALREETRFTH(3) 10A8H 0.09 0.07
4 1-4 | SEFEHRRT (LLRFEHTHG 10898 0.10 0.09
5 1-6 KIEENT (LRFHF-50F%F 10A9H 0.10 0.09
6 1-7 | SEFEFWRW |[RRETHREHG 10898 0.10 0.09
7 1-8 KEENT [ALRFEETPRH 10A9H 0.10 0.10
8 1-10 | SFEWT |ASRETRFH (7 10898 0.09 0.09
9 2-1 REWNT | LREATRTEH 10A8H 0.10 0.07
10 2-2 | RFEENT |dAFEETPRHO 10888 0.08 0.08
11 2-4 SBENT |dEETRFHO0) 10A9H 0.10 0.09
12 2-5 | RBEEWNT |dASFETRRHAO) 10898 0.10 0.08
13 2-6 RENT |dEETRFHFO2) 10A9H 0.10 0.10
14 2-8 | SFENT (ARERTHFRHO13) 10898 0.07 0.10
15 2-9 KREWNT |EETRFHO4) 10A9H 0.08 0.09
16 | 2-10 | =FHFENH |AFEEHRH(15) 10898 0.09 0.10
17 3-1 KREWNT |dLEETRFHO6) 10A8H 0.09 0.07
18 3-2 | REEWNT |dAFETPRHAOT7) 10888 0.08 0.06
19 3-3 REWNT |dLEETPFHO8) 10A8H 0.08 0.06
20 3-4 | SFENW |(ARFERTHFHO(9) 10898 0.10 0.08
21 3-5 SREWNT |dLEETRFH(20) 10A9H 0.07 0.07
22 3-6 | RFEEWW |dFETHFRH(21) 10898 0.10 0.08
23 3-7 FENT |dLERTRFH(22) 10A8H 0.09 0.08
24 3-8 | RFEEWH |dLFETPFRH(23) 10888 0.08 0.08
25 3-10 | EENT (ALRFEETRFTH(24) 10A9H 0.08 0.10
26 4-2 | SEEWT [JLRERTHFRH(25) 10888 0.07 0.06
27 4-4 SREWNT |LEETRFTH(26) 10A9H 0.10 0.09
28 4-6 | SEFEHWT [LRZFETHTH(27) 10898 0.08 0.10
29 4-7 REWNT |dLEETRFTH(28) 10A8H 0.08 0.09
30 4-8 | SEFEHWW |(LRZFETHTH(29) 10888 0.09 0.10
31 4-9 SREWNT |LEETHFTH(30) 10A9H 0.08 0.09
32 | 4-10 | SFEWW |ASRETRFH(31) 10898 0.08 0.08
33 5-2 SREWNT |LEETPFH(32) 10A8H 0.07 0.06
34 5-4 | RFEWNH |dSEETPFRH(33) 10898 0.09 0.08
35 5-5 KIEENT (ALREETRFTH(34) 10A9H 0.09 0.10
36 5-6 | RIFEWH |dLSEETPHFRH(35) 10898 0.08 0.08
37 5-7 KIEENT [LRFEETRFTH(36) 10A8H 0.07 0.09
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38 5-8 RIEEWRT |LRIEETRITH(37) 10A8H 0.08 0.09
39 5-9 | RBEEWNT |dLSEETHFRH(38) 10888 0.10 0.09
40 6-1 KEENT (ALRFEETRFTH(39) 10A8H 0.08 0.06
41 6-2 | RFEEWNT |dLSFETHFRH(40) 10888 0.10 0.08
42 6-3 KEENT (LREETRFTH(41) 10A8H 0.10 0.08
43 6-4 | RFEEWNT |dLSFETPRH(42) 10898 0.09 0.09
44 6-5 KIEENT (ALREETRFTH (43) 10A9H 0.10 0.08
45 6-7 | RFEEWNT |SFETHRH(44) 10898 0.09 0.10
46 6-9 KEENT (LREETRFTH (45) 10A8H 0.09 0.08
47 7-1 RFEWT |LSEETHFH(46) 10888 0.08 0.08
48 7-3 KIEENT (LREETRTH (A7) 10A9H 0.09 0.07
49 7-5 | REENT |dASEETPFRH(48) 10898 0.08 0.08
50 7-7 KIEENT (ALREETRFTTH (49) 10A8H 0.07 0.08
51 7-9 | REEWNT |dASEETPFRH(50) 10888 0.09 0.10
52 7-10 | RBEWW |dLRRETPRH(51) 10A9H 0.11 0.12
53 8-1 RFEEWT |LSEETRFRH(52) 10888 0.10 0.08
54 8-3 KEENT (LREETRFTH(53) 10A8H 0.08 0.07
55 8-4 | RFEWNT |dLSFETPFRH(54) 10898 0.09 0.08
56 8-5 KIEENT (LRFEETRFTH(55) 10A9H 0.08 0.09
57 8-6 | RFEEWH |dLEETHFRH(56) 10898 0.10 0.09
58 8-7 KIEENT (LREETRTH(57) 10A8H 0.10 0.12
59 8-8 | RFEEWH |dLEETHFRH(58) 10898 0.10 0.10
60 8-9 KEENT (ALRFEETRFTH(59) 10A8H 0.09 0.09
61 9-1 RFEEWT |LRIEETHFH(60) 10888 0.09 0.08
62 9-2 KIEENT (LREETRFTH(61) 10A8H 0.10 0.08
63 9-3 | REENH |dFETPFRH(62) 10888 0.08 0.07
64 9-4 KEENT (LREETRFTH(63) 10A9H 0.10 0.09
65 9-5 | RFEEWNT |dLFETPFRH(64) 10898 0.08 0.09
66 9-7 KEENT (LRFEETRFTH(65) 10A8H 0.10 0.08
67 9-9 | RFEEWNH |dLSEETPHFRH(66) 10898 0.09 0.09
68 9-10 | EENT [LRFEETHFTH(67) 10A9H 0.08 0.10
69 10-1 | SFFERT |ILFEETHFRH(68) 10888 0.10 0.08
70 10-3 | SIEFEWT |ILSIEETHRITH(69) 10A8H 0.09 0.06
71 10-5 | SFFENT |dFEETHRH(70) 10898 0.10 0.11
72 10-6 | SUERFEWT |dLSIEETHRIRH(71) 10A9H 0.09 0.09
73 10-7 | SFFERT |ASFEEHRH(72) 10888 0.08 0.07
74 10-8 | SIEFEWT |ILIEETHRIH(73) 10A8H 0.09 0.08
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75 10-10 | =EHWT |dEETDRRAF(74) 10898 0.09 0.09
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